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4 Shade the region required in each Venn Diagram. 

 

A

C

B A B

 

 

 A ∩ B ∩ C A ∪ B′ [2] 
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 Find A

–1

,  the inverse of the matrix A.        
Answer        

⎛ ⎞

⎜ ⎟

⎜ ⎟

⎜ ⎟
⎝ ⎠

 
 [2] 

 

 
6 In 2005 there were 9 million bicycles in Beijing, correct to the nearest million. 

 The average distance travelled by each bicycle in one day was 6.5 km correct to one decimal place. 

 Work out the upper bound for the total distance travelled by all the bicycles in one day. 

 

 

 

 

 

 

 Answer  km [2] 

 

 

7 Find the co-ordinates of the mid-point of the line joining the points A(2, –5) and B(6, 9). 

 

 

 

 

 

 

 Answer (  ,  ) [2] 
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9 In a survey, 100 students are asked if they like basketball (B), football (F) and swimming (S). 

 

 The Venn diagram shows the results. 

 

17
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 42 students like swimming. 

 

 40 students like exactly one sport. 

 

 (a) Find the values of p, q and r. [3] 

 

 (b) How many students like 

 

 (i) all three sports, [1] 

 

 (ii) basketball and swimming but not football? [1] 

 

 

 (c) Find 

 

 (i) n(B′ ), [1] 

 

 (ii) n((B∪F )∩S ′ ). [1] 

 

 (d) One student is chosen at random from the 100 students. 

 Find the probability that the student 

 

 (i) only likes swimming, [1] 

 

 (ii) likes basketball but not swimming. [1] 

 

 (e) Two students are chosen at random from those who like basketball. 

 

 Find the probability that they each like exactly one other sport. [3] 
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5 In 1970 the population of China was 8.2 x 10
8

. 

 In 2007 the population of China was 1.322 x 10
9

. 

 Calculate the population in 2007 as a percentage of the population in 1970. 

 

 

 

 

 

 

 

 

 

 

 Answer  %[2] 

 

 

 

6  

 A = 
 0  1

8 4− −

     B = 
7  1 

50 −

 

 

 Calculate the value of  5 |A| + |B|, where |A| and |B| are the determinants of A and B. 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

 

7 Shade the region required in each Venn Diagram. 

 

 

A

C

B

A' ∩ (B ∩ C )

A

C

B

A' ∩ (B ∪ C )
 

 

 

 [2] 
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11 Make d the subject of the formula   

5 4

2

d w

c

w

+

=  . 

 

 

 

 

 

 

 

 

 

 

 Answer d =    

    [3] 

 
 

12 Q = {2, 4, 6, 8, 10} and R = {5, 10, 15, 20}. 

 15 ∈  P,  n(P) = 1 and P ∩ Q = Ø. 

 

 Label each set and complete the Venn diagram to show this information. 

 

 

 

    [3]  
 

13 Solve the simultaneous equations. 

 

2

7

2

x y+

=  

 

2

17

2

x y−

=  

 

 

 

 

 

 

 

 

 Answer x =     
 y =   [3] 
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4 Write as a single fraction  

8

3a

  +  

5

4

 . 

 

 

 

 Answer   [2] 

 

 

 

5 Write   2
8

  ×  8
2

  ×  4
-2    

in the form  2
n

. 

 

 

 

 Answer   [2] 

 

 

 

6 Change 64 square metres into square millimetres. 

 Give your answer in standard form. 

 

 

 

 Answer  mm
2

 [2] 

 

 

 

7 

A B

C
 

 

 The shaded area in the diagram shows the set (A ∩C ) ∩ B'. 
 

 Write down the set shown by the shaded area in each diagram below. 

 

A B

C

A B

C
 

 

     [2] 

 

 



Sets and Venn Diagrams

6) 

7)

2 

© UCLES 2011 0580/23/M/J/11  

For 

Examiner's 

Use 

1 Factorise completely. 

 2xy – 4yz 

 

 

 Answer   [2] 

 

 

2 Make x the subject of the formula. 5

3

+=

x

y  

 

 

 

 

 Answer x =   [2] 

 

 

 

3 (a)  

A B

 

 

 Shade the region A ∩ B'. [1] 

 

 

 (b)  

A B

7 4 5

3
 

 

 This Venn diagram shows the number of elements in each region. 

 

 Write down the value of n ( A ∪ B' ). 
 

 

 Answer(b) n ( A ∪ B' ) =   [1] 
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6  

H C

20

40

15030

 

 

  = {240 passengers who arrive on a flight in Cyprus} 

 

 H = {passengers who are on holiday} 

 

 C = {passengers who hire a car} 

 

 

 (a) Write down the number of passengers who 

 

 (i) are on holiday, 

 

 Answer(a)(i)   [1] 

 

 (ii) hire a car but are not on holiday. 

 

 Answer(a)(ii)   [1] 

 

 

 (b) Find the value of   n(H ∪ CV ). 

 

 Answer(b)   [1] 

 

 

 (c) One of the 240 passengers is chosen at random. 

 

 Write down the probability that this passenger  

 

 (i) hires a car, 

 

 Answer(c)(i)   [1] 

 

 (ii) is on holiday and hires a car. 

 

 Answer(c)(ii)   [1] 
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8  = {1,  2,  3,  4,  5,  6,  7,  8,  9} 

 

 E = {x :  x is an even number} 

 

 F = {2,  5,  7} 

 

 G = {x :  x2 O 13x + 36 = 0} 

 

 (a) List the elements of set E. 

 

 Answer(a) E = {  } [1] 

 

 (b) Write down  n(F ). 
 

 

 Answer(b) n(F ) =   [1] 

 

 (c) (i) Factorise  x
2

 O 13x + 36. 

 

 

 

 Answer(c)(i)   [2] 

 

 (ii) Using your answer to part (c)(i),  solve  x
2

 O 13x + 36 = 0  to find the two elements of G. 

 

 

 

 Answer(c)(ii) x =  or x =   [1] 

 

 (d) Write all the elements of    in their correct place in the Venn diagram. 

 

E
F

G

 

 

 [2] 

 

 (e) Use set notation to complete the following statements. 

(i)  F ∩ G =   [1] 

(ii)  7  E [1] 

(iii)  n(E  F ) = 6 [1] 
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22 In a survey of 60 cars, 25 use diesel, 20 use liquid hydrogen and 22 use electricity. 

 

 No cars use all three fuels and 14 cars use both diesel and electricity. 

 

 There are 8 cars which use diesel only, 15 cars which use liquid hydrogen only and 6 cars which use 

electricity only. 

 

 In the Venn diagram below 

 

  = {cars in the survey}, 

 D = {cars which use diesel}, 

 L = {cars which use liquid hydrogen}, 

 E = {cars which use electricity}. 

 

8 6

15

........

........

................

........

D E

L

 

 

 (a) Use the information above to fill in the five missing numbers in the Venn diagram. [4] 

 

 

 (b) Find the number of cars which use diesel but not electricity. 

 

 

 

 

 Answer(b)   [1] 

 

 

 (c) Find n(D'∩ (E ∪ L)). 

 

 

 

 

 

 Answer(c)   [1]  
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1 Write down the number which is  3.6  less than   – 4.7  . 

 

 

 

 

 Answer   [1] 

 

 

 

2 A plane took 1 hour and 10 minutes to fly from Riyadh to Jeddah. 

 The plane arrived in Jeddah at 23 05. 
 At what time did the plane depart from Riyadh? 

 

 

 

 

 

 

 

 Answer   [1] 

 

 

 

3 Calculate 
2 23

2.35 1.09− . 

 Give your answer correct to 4 decimal places. 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

 

4 Shade the required region on each Venn diagram. 

 

A B

A ∩ B' (P ∪ Q) ∩ R'

P Q

R

 

    [2] 
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16 The time, t, for a pendulum to swing varies directly as the square root of its length, l. 

 When l = 9, t = 6 . 
 

 (a) Find a formula for t in terms of l. 

 

 

 

 

 

 

 Answer(a) t =   [2] 

 

 

 (b) Find t when l = 2.25 . 
 

 

 

 

 Answer(b) t =   [1] 

 

 

 

17  

R F

 

 

 

 In the Venn diagram,  = {students in a survey}, R = {students who like rugby} and 

F = {students who like football}. 

 

n( ) = 20 n(R ∪ F) = 17 n(R) = 13 n(F) = 11 

 

 (a) Find 

 

(i) n(R ∩ F), 

 Answer(a)(i)   [1] 

 

 (ii) n(RV∩ F=). 

 Answer(a)(ii)   [1] 

 

 

 (b) A student who likes rugby is chosen at random. 

 

 Find the probability that this student also likes football.  

 

 

 

 

 Answer(b)   [1] 
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3 90 students are asked which school clubs they attend. 

 

 D  =  {students who attend drama club} 

 M =  {students who attend music club} 

 S  =  { students who attend sports club} 

 

 39 students attend music club. 

 26 students attend exactly two clubs. 

 35 students attend drama club. 

 

10

5

23

13........

........ ........
........

D M

S
 

 

 (a) Write the four missing values in the Venn diagram. [4] 

 

 (b) How many students attend 

 

 (i) all three clubs, 

 

 

 Answer(b)(i)   [1] 

 

 (ii) one club only? 

 

 

 Answer(b)(ii)   [1] 

 

 

 (c) Find 

 

 (i) n(D ∩ M ), 
 

 

 Answer(c)(i)   [1] 

 

 (ii) n((D ∩ M ) ∩ S' ). 
 

 

 Answer(c)(ii)   [1] 
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9 (a)  = {25 students in a class}  
 F = {students who study French} 

 

 S = {students who study Spanish} 

 

 16 students study French and 18 students study Spanish. 

 

 2 students study neither of these. 

 

 (i) Complete the Venn diagram to show this information. 

 

F S

..... ..... ..... .....

 

 

 [2] 

 (ii) Find n(F'). 

 Answer(a)(ii)   [1] 

 

 (iii) Find n(F ∩ S)'. 

 Answer(a)(iii)   [1] 

 

 (iv) One student is chosen at random. 

 

 Find the probability that this student studies both French and Spanish. 

 

 

 

 

 Answer(a)(iv)   [1] 

 

 (v) Two students are chosen at random without replacement. 

 

 Find the probability that they both study only Spanish. 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer(a)(v)   [2] 
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 (b) In another class the students all study at least one language from French, German and Spanish. 

 

 No student studies all three languages. 

 

 The set of students who study German is a proper subset of the set of students who study 

French. 

 

 4 students study both French and German. 

 

 12 students study Spanish but not French. 

 

 9 students study French but not Spanish. 

 

 A total of 16 students study French. 

 

 (i) Draw a Venn diagram to represent this information. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 [4] 

 

 (ii) Find the total number of students in this class. 

 

 

 Answer(b)(ii)   [1] 

 

 


